JL_

1)

2)

3)

Examining Graphs Name:
Deter mine which statements about the graph aretrue. Answers
10t , A.Thepoint (3, 1.5) showsthat 3 batches of
cookies require 1.5 cups of flour.
8 8
§ B. The point (4.5, 9) shows that 9 batches of
O 6 1 cookies require 4.5 cups of flour.
o p 7
g 4 C. The point (5, 2.5) shows that 5 batches of
g > L’ cookies require 2.5 cups of flour.
. »  D.Thepoint (3, 6) shows that 6 batches of
12 3 4 5 cookies require 3 cups of flour.
Cups of Flour
100t - A.Thepoint (9, 90) shows that you would
— earn $90 for mowing 9 lawns.
80
§ B. The point (8 , 80) shows that mowing 8
§ 60 lawns will earn you $80.
g 4 (- : .
<} C. The point (5, 50) shows that mowing 5
= 20 L’ lawns will earn you $50.
. »  D.Thepoint (80, 8) shows that mowing 8
2 4 6 8 10 lawns will earn you $80.
Lawns Mowed
15t , A.Thepoint (1.5, 1) showsthat 1 piece of
7 chicken will cost $1.5.
12
B. The point (3, 4.5) shows that 3 pieces of
g 9 1 chicken will cost $4.5.
X 5 |7
C. The point (6 , 4) shows that with $6 you
3 4 can buy 4 pieces of chicken.
d »  D.Thepoint (7.5, 5) showsthat 5 pieces of
2 4 6 8 10 chicken will cost $7.5.
Pieces of Chicken
1-3 [67]33] 0
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Examining Graphs Name: Answer Key
Deter mine which statements about the graph aretrue. Answers
1) 10t , A.Thepoint (3, 1.5) shows that 3 batches of
cookies require 1.5 cups of flour. 1 B,D
8 8
S . The point (4.5, 9) showsthat 9 batchesof [ A,B,C
O 6 1 cookies require 4.5 cups of flour.
@) L7
8 4 ‘ . 3. B
S . The point (5, 2.5) shows that 5 batches of
g > L’ cookies require 2.5 cups of flour.
. > . The point (3, 6) shows that 6 batches of
12 3 4 5 cookies require 3 cups of flour.
Cups of Flour
2) 100t , . The point (9, 90) shows that you would
— earn $90 for mowing 9 lawns.
80
§ . The point (8, 80) shows that mowing 8
§ 60 lawns will earn you $80.
g 4 - i
S . The point (5, 50) shows that mowing 5
= 20 L’ lawns will earn you $50.
‘ > . The point (80, 8) shows that mowing 8
2 4 6 8 10 lawns will earn you $80.
Lawns Mowed
3) 154 , . The point (1.5, 1) shows that 1 piece of
7 chicken will cost $1.5.
12
. The point (3, 4.5) shows that 3 pieces of
g 9 1 chicken will cost $4.5.
x 5 |7
. The point (6, 4) shows that with $6 you
3 L’ can buy 4 pieces of chicken.
d > . The point (7.5, 5) shows that 5 pieces of
2 4 6 8 10 chicken will cost $7.5.
Pieces of Chicken
1-3 [67]33] 0
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